Algebra 1 Notes...

(WF] Factor Quadratic Equations When the Leading Coefficient “a=1”

Date:

VOCABULARY:
2 —
e Standard Form of a Quadratic Equation A X g B X T C =0 ;

Where (o) ‘. \D: C ore Cecl numbers ; and A "1‘: (@)

e Factoring a quadratic trinomials when a=1 into a product of 2 binomial factors

Algebra: x“+bx+c=(x + # )(x + #)

When A=1, the question to ask yourself ... What 2 numbers add to “b” and their product is “c™?

Example: X +5x+6=( x+2 )( x+3 ) because 2 +3=5and 2°3=6.

o Note: order of factors does not matter (x+2) (x+3) < (x+3) (x+2) are both equal.

m Factor when b and c are positive
Steps to Factor:  x° +10x + 16 = l,(x 4+ & AX+ g o0& ‘ (X‘*S'} (7(‘*")
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1) Identify a,b,andc. a=__| b=__10 ande=_ | b
2) Write 2 sets of ()’s. One for each factor.
3) The first term in both factors is “x”. Why? X . X = X - £ ‘]H’n‘} 'S 'Hst ! STTEZM
4) What must the signs have to be for each factor? bo‘H« S16MS ove T b/ c  b¥cC cre
5) What are the factors of 16? Put them under the 16. T°51ﬁd €
6) Find the 2 factors b c

yo + ¥ =10 AND o & =16
7) ECK by Multiplying the factors  ( y+2) (x+ g) = XZx&xr1xrie = X T [0X )6 v

[T AOINER Factor and Check by mentally multiplying
2) x*+9x+8 ]()H- k>(><+‘5 )\ 3) x+12x+20 I(X* le(ﬂo)
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4) x? +9x+18 .<>(+53(>(+é ’\1 5) «x? +13x;40 <X_‘_5->Q<+g )

| 1°
53 4o

B

1\sw——-— —
2 9
3

SAes:



Factor when b is negati_gg_m_g_mulme.‘
Steps to Factor : _sx+6=_|(X- A )(X Sﬁ o¢ X 3)()( -2>
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1) Identifya,b,andc. a= \ b= =5

ande= (o

2)
3)
4)
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What must the signs have to be for each factor?

Find the 2 factors  —2
CHECK by Multiplying the factors

“B end * C

BPoth Ncac%-iue blc

What are the factors of 62 Put them under the 6.

+ =5 =»»‘5/AND ~d o =3 =6//

m Factor and Check by mentally multiplying

7) x%—10x + 21 =\Q<—?> ¥E ~T )J 8) x%—10x + 16:KX -2 (X -3 >—)
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DENNIER Factor when c is negative
Steps to Factor: x*+3x—10= [LX + 5 WX -2 )J
J
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1) Identifya,b,andc. a= ! b= ?) ande=__ 1O
2) What must the signs have to be for each factor? __ O PPOs I TE SIGANS (+'. " ) L/C Cis
3) What are the factors of 10? Put them under tkéc? 10. ¢ Ne'a( b
4 ) Find the 2 factors —a + 5 = 3f -2 « 5 = —)Cf v

%) CHECK by Multiplying the factors

m Factor and Check by mentally multiplying

o) x? —5xf50 Kx+>)(x—/oﬂ

10) %% + 2x — 24 =](><+ (x4 )
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1) x*+4x -2 [X‘\' (x~-3 \l 13) x%—4x — 32 :) (x+4 AX -§ )1
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Algebra 1 Notes...

Date:
(Y Solve Quadratic Equations by Factor
m Steps to Solve Quadratic Equations by Factor:
o
P+ Tx = 1)\8 1) Put in standard form
-y =l Ax*y BxxC=0

i a

+ 2) Factor

(X +a)x-2 ) =0 ¢

X+9=0 X~25%
-9 -4 +2 *7“,,,

e

¢ Q‘q>1+7 [-N=1% 4. 5%96) =15 Novce - Yhere cre
5l -b5= 1% % 4 ;‘3/
1x =18/ V5= 15/

3) Set each factor to “0” and solve

& Sold“\“dv\\%

4) Checkleach’solution in the
original equation




[ETATCNE Solve by Factoring and Check
©

2) x*+x= 3) xz_Mx:_ZN{ﬂ
. $40 ¥4
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